1. ﬁﬁ‘lﬂqmﬁ;aﬂmmmmmaﬁ 1. Find out the word which cnnhef?l'me‘ibyusm‘g
T W@ ) wa fifry | the letters of the given word. ‘V’i
SUPERVISION = | SUPERVISION '
(1) NERVOUS | i, i
_+2) Ré‘.SI GN ' | (2) RESIGN (
@ POISON (3) POISON ' |
(4) REVISIT (4) REVISIT
(5) I T 2 W (5) Not attempted
2. Pefofan veram e & x % wm o 29 2. Which number will replace X’ in the given
. h - | numerical series ? _’,ﬂ-"’ -
2 0,7, 26, X, 124, 215 | | 0,7, 26, X, 124, 215
(1) 83 (;}, v
(2) 60 @ 60
(3) 65
(3) 65
(4) 62 w «
5) T T (5) Not attempted 1.
. 3. You are the owner of a restaurant ﬁhe of ‘
3. M . - ' your
m‘ﬁ ﬁ % wfas & | e uF feeftad i delivery boys met with a minor accident while
9 e 1 Feearsh o LIEGil-ere ey rushing to deliver the food on time. He needs rest |
WHR B Fa 2 138 5 &1 ¥ s 6 s 2 for 5 days. Which of the following actions you will
¥ fefafgs § 8 RN witad s5 9 take ?
Y FN W5 &7 #1 waa7 waww 3 3 3ue (1) You will give him paid leave for 5 days and
fafrem =g =1 Wi AR W | will also pay for medical expenses.
(2) 9 3R HH0 7 Frwra 3 (2)  You will terminate him from the services. | '@’
(8) M3\ 5fF for Freifam = 30 | , (3)  You will suspend him for 5 days.
(4) 3135 F e fn 3 28w o @ You will ask him to go on leave without pay
fora =m | for 5 days.
(5) I T 2 R . (5) Not attempted
4. ‘AB,CD, Bl romatsd Dyt A, B, C, D, IE"““"‘ F are six persons, ‘(v i
A EFR AR | B s D T g d “i'dﬂr t:lan ‘D-fé?-m :l: T gest. 3 and ‘D’ are 9.
o X . ' 0l equ age. 1S Oolder than 'E‘. ICI .
BEATMRICFIADNY | Baad s do than F'. Who are older than g7 ° YOUger
(1) F3mC | (1) FandC |
(29 C3MD : (2) CandD
(3 C3IME 3) CandE |
(5) T & & . (5) Not attempted |
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Iect the combination of numbers g, that th
e

B — T8 gEm q9919F 1 999 Hifse e FTEN T F: | 5 Se arranged accordingly will o,
_ d

mﬁﬁ%ﬁﬂﬁﬁﬁmmmmﬁ; letwr?ngfulwurd:
GN&THR mEﬂngNAEHR ‘
1 2 3 45 6 |
1 2 3 456 I
M 356241 PHRN 29 25,6241 .
@ saiiee WMV | Dl
(4) 5’311. 48 WhVIER (3) 5321406 RN
312,64 Way Wi b 531264
(5) 3 T A MW (5) Not attempted
8 fFfafEa 3 fird vg ma Hifor | ind the odd one out
i ' 4 Brick—Wal
(2) |NHEA - FHl @ Auditorium — Chair
(_3) ‘T"g'&ﬁ — '™ | | (3) Petal — FIOWE_I'
(4) el - Y . | (4) Finger — Hand
(5) IR &l &1 =Ed (5) Not attempted

‘ANGLES’ is related to ‘GNASEL’ in the same

7. 9 geR ‘ANGLES’ & @44 ‘GNASEL’ # &, 34t (7.
v - way as ‘SQUARE’ is related to _? .

TR ‘SQUARE’ %1 gay fad & ?

(1) UQSREA W (0 Scmq (1) UQSREA
2) UQSERA (2) UQSERA
(3) UQSARE (3) UQSARE
(4) USQERA ‘ ' (4) USQERA
(5) I TR AT I18Ed ' (5) Not attempted
._@7 g g ‘BLUNT &1 Hay BuTn’ @ &, 3°1 &K 8. ‘BLUNT is related to qBuTn’ in the same way as
‘SHARP &7 994 forgg gm ? ‘SHARP’ is related to 7 .
( ) | (2) HspaR
@) HapaZ (3) PraHs
@) - Prall | (4 hSaPr
() - hoa™> | (5) Not attempted
(5) 3w T & ATEd
9. XYZABCQRSOPMNJHI#+12345
9. X-YZABGQRSOPQN@?‘#'Z"12345 Whichufthefnlluwingisthirdtutheﬁghtufthe
gl 71'§ ’3“35’” & A 9T 3 g 3 freferraa 74 element which is exactly in the middle of the
Fra geF HA-Al g ? | | given sequence ?
A1) H | (1) H
2 M 2) M
3 N L @) N
4) J 4) J
(5) I ECiRll ared ] (5) Not attempted :
. ACE F
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10&

11.

12.

'fﬁ?%wwmﬁhmaﬁ%ﬁfﬁﬂmw

2

R IN

- (2) HOPE : Expo

(6)  IW 7 T 1=y

afe fareh < YN H ‘over and above’ #l ‘da pa ta’

3 ‘old and beautiful’ #} ‘sa n@ ﬁﬂmmt
a3 e w3 ¢ ‘and’ ®1 T8 v ferar smom 2

(1) na

(2) da

- (3) pa

(4) ta

(5) I 4 & =Ry

ma;q:qﬁqa;mmmmoia‘iﬁmmmﬁ
aﬁﬁzﬁaﬂﬁﬁqaﬁﬁlaﬂﬁﬁamaﬁﬁ
mﬁaﬁawmmmﬁaﬁaﬁéﬁ
sfafes fie =% |ﬁatu1%1%m§?<=lﬁmiﬁ’méz
IqAY & ?

10.

11‘-

12.

Find the odd one out which is coded differently,
(1) PLAY: YPAL

(2) HOPE : EHPO

(3) TUNE:ETNU

(4) MORE: ERMO

(5) Not attempted

In a certain code language ‘over and above’ is 1
. 4,
written as ‘da pa ta’ and ‘old and beautiful’ is

written as ‘sa na pa’. How is ‘and’ written in that
code language ?
(1) na

(2) da

(3) pa
(4) ta

15.
(5)  Not attempted '

On Ajay’s birthday, chocolates were to be

distributed equally among 100 children, He could

distribute to 70 children only so that each child

got 3 chocolates extra. How many total

chocolates were available for d:stnhutmn ?

1) 300 (1) 300
/2} 700 (2) 1700
) 210 (3) 210
0" 560 (4) 900
 ® I T8 27 =R 1 ) Not attempted | —
NG /Page & % &1 & foro wam SPACE FOR I
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18. - frafefiaa qeens J@en & gy

(1)
(2)
A3
(4)
(5)

27,216, 729, ? , 3375
20736 v g
1729

1728

1500

e 781 21 T

14, fFr=fafga @ fim g aH-a 2 2

(1)
(2)
(3)
(4)
(5)

5,"15720,'24,'25

25 .
15
20

24
I AE 21 ATEd

o ol ¥ are A frewd few TR | AR A

13#

14.

15.

(1)
(2)
(3)
(4)
(5)

(1)
(2)
(3)
(4)
(5)

. -h number will come
Whi by € In place of the question
mark (7) 10 the 10TOWIng numerical series ?

27, 216,729, 2 3375
20736

1729

1728

1500
Not attempted

Find the odd term out.

5, 15, 20, 24, 25
25
15
20

24
Not attempted

Three statements are followed by three

conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
known facts. Decide which of the given

?ﬁnﬁiﬁ'ﬁmaiﬁ%'§g1d1amw#iaﬁ'a?urqﬁﬁtgg:msﬁmﬁu
$iforg & arfhes &9 g sm-a/A freed fqg FYA conclusions logically follow from the given
3y frred & | statements.
Fo7: P9 e 99 ¢ | Statements : Some plates are spoons.
P9 g A e ? | ‘Some bowls are plates.
gl 94 FNE | All spoons are bowls.
ey (1) F9 e Fel 2 | Cu.nciusians . ()  Some plates are bow'l_s..
(1) %9 Fo1t I & (II) Some bowls are spoons.
. | (III) Some spoons are plates.
(I11) $ I e g
(1) @sft 1, 11 3T fraperd 2 (1) All1, IT and III follow
e T iR 11 e @ (2) Only I and II follow
(2) N S HIﬁ'ﬂh‘(“ﬁ:‘ 2 (3) Only II and III follow
N ﬂa'aﬁl [ 3 111 fyerd 8 (4) Only I and III follow
o T & arEd (5) Not attempted
(5) I I b ~ 3
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16. ﬁqwﬁgmﬁmmmmmuﬁﬂiﬂ. R gl $1 5f & waifis 9§ 9199 2
(1)  3qdt Frei @1 fger; & &1 90EY |

MR
(1) 2 figehy 30 38 % 3 | (2) e, @i, o — g R FEE ST @A
| ‘ (3) 7! egdh, FUT A |
(2) M 39 @ 78 I 2 | (4) a7 &Y, anreft, af s wmar SdT 2
(3)  ga® 3 H 3o A 7 R | 5) 370 e 2 AR
(4) I% famm 2 o drw wqg & fas 78 |
(5) IR 7d 371 9 20. TEF vz § v Y R

(1) =

(2) 7%

(3) 3= ’

17. ‘#8% gl & e & i wH & forg @ e

wmrﬂﬂaﬁmrﬂgﬁﬁsﬂnmgﬁq; o
(1) FW |
(2) 99 21. o fm e vl @1 3ugw s R mn
(3) i | Lk

(1) =
il - (2) waw
(5) I 74T 2 = | (3) @

} | (4) |
(5) IR A€ 247 =9Ed

18. IS B 1 wzmErer 777 2 .
22. ﬁ!’l-ﬁ!’fﬁﬂmﬁ'%ﬁgtigq ’

(1) 934 ; , '
(2) @& ey s . . )
(3) Ieaga (1)  3IeV& IEwHR
(2) =fits 3e
(4) TEYOT AR
(3) IIVH JAFR
(5) I ALl &A1 SEd |
(4) I HAHK
©(5) TN
RAMA/C1/Page 6 mm.m (5) 78 21 <R _
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- HAT

IR @I oA 4TEd

04, Frfefes wdi A A Y ¥R F 9 HIAT

(1)
(2)
(3)
(4)
(5)

S ICINIED
LHED
YTHTIOT

M EIED
I A€ &A1 ATEA

m’m%maﬁa-wmﬁmﬂwﬂﬁm 1

(6)

28.

RAMA/C1/Page 7

< @ % forg Tt | SPACE FOR ROUGH WORK

N (1) e 3R e

oy (2) v I faug

:: E (3) wd iR fra

(4) feam (4) hal I TR

(5) IR AET &A1 AR (5) I A &A1 =TEd

| Hifsm |

26. ‘mm’mwmsﬁaﬁmm:f 30, Prffiga fwedl § qead weg 6 TE=TH

(1) 34 2 IAW :: :;

(2) 3 %I 3H _{3) -

(3) W & foi¢ I&

(4) W 8 W IH (4) W

(5) I Tl &A1 =Ed - ® mq_gf;amma .
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31 of the|35. Choose the wnrc% which is opposite in meaning ¢
* Choose the correct passive voice for™ the word underlined.,
followi -
ollowing sentence. “She is slender in figure,”
Sheetal will have finished the work. ‘ (1) slim
(1) Sheetal will finish the work in due 1™ | ’
(2)  The work is finished by Sheetal. (2) strong
(3)  The work will be finished by Sheetal: ed by (3) frail
(4) ;‘::e work will have been finish (4) stout
eetal.
(5) Not attempted (5) 'Not attempted
: ' ich has an
32. Pick m#: ;he part of the sentence ‘::.If{ 0. 36. In the following question, out of the four
error. If there is no error, your answ alternatives, choose the one which can be
The simplest method substituted for the given sentence.
A | | “An apartment building in which each apartment
of welding two pieces of metal together is owned separately by the people living in it, but
B also containing shared areas.”
1s known as pressure welding, (1) Caravan
C
B e (2) Condominium
2 A (3)  Multiplex )
(3) B (4 Duplex
(4)  No error (5)  Not attempted
(5)  Not attempted
33. Rearrange the following parts of & sentence 37. Choose the word which is opposite in meaning to
| labelled as PQRS to make a meaningful the word underlined.
sentence “Earthquakes are frequent in Japan.”
P.  deeds is to be (1) rare
Q. on to the future (2) extinct
R.  the power of noble (3)
S.  preserved and passed nnusual
(1) RPSQ (4) few
(2) RSQP (5) Not attempted
(3) SQPR
(4)  PQSR 38. Choose the alternative which best expresses the
(5)  Not attempted }Tﬂamng of the underlined idiom.
Or speech is g| -
34. Pick out the correctl l sl efial Stones.
Y spelt word. (1) reali ti -
(D) Outrajious , SUC stories
(2) Outregeous = lﬂng tales
(3)  Outrageoys (3)  herojc Stories
(4) Outragoug (4) éXaggerateq taleg
(5 Nm’.dtmmp_"“d o (5)  Not altempteq
MA/C1/Page 8 Ny o *
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Read the following passage carefully and answer|42. The old man is lmkinﬂ forward

questions 39, 40 and 41. visits of his grandchildren, the .-
India is one of the oldest civilizations of the world, |* (1) wit
which offers a kaleidoscope of cultural experiences. The | (2) for
country has a rich heritage and numerous attractions. (3) in

It stretches from the snow-capped Himalayan peaks to
the tropical rain forests of the south covering
32,872,263 square kilometers. It is the world’s seventh (6)
largest country, distinguished from the rest of Asia by
mountains and the sea which gives the country a|4q. Choose the most appropriate preposition to fill in
distinct geographical identity. India showcases a the blank.

variety of heritage resources crafted hundreds of years She succeeded
ago fro :

(4) to
Not attempted

dint of perseverance and

ites to pristine sea-beaches. hard work.
tantial ecunnn:u‘l{ sn'éal,

(1) to
velopment that
(2) for
(3) from
tions, India 1s 4) by

(5) Not attempted

44. TFill in the blank with the appropriate option

given below.
The Battle of Waterloo was won of
Eton. '

yutes to our (1) in the played .

(2) with the play field

(3) on the playing fields
. (4) f{;r play fielded

(5) -Not attempted

|45. Pick out the correct indirect speech form of the
following sentence.

«I have bought a house,” he said.

e above passage which

y, traditions and culture |
‘ (1) He said that he would buy a house.

' | (2) He said that he had bought a house.

(3) He said that he has bought a house.

(4) He said that he bought a house.

(5) Not attempted , A

R B
& @14 % fere TuT | SPACE FOR ROUGH WORK
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ash Award for Mﬂhavil.

.o the One Time C
46 W fadm W e ot A TN R oo
(2) = 2,00:00:000 (2) ¥ 2,00,00,000
(3) ¥ 1,00,00,000 (3) ¥ 1,00,00,000
(4) T 4,00,00,000 (4) ¥ 4,00,00,000
(5) I €I AT TR (5) Not attempted
@ whamn %1 T g w0 R 2 47. What is the State Bird of Haryana ?
) =TT . (1) Black Francolin
/{ﬂz) gie A , (2) House Sparrow
(3) Wz ge | (3) Great Egret
(4) it vaft (gfim @€) L (4) Humming Bird
(5) I & 31 =& (5) Not attempted
ﬂ efmom ‘ﬁ &1 98 W% Hal fedd B ? 48. Where is the Blue Bird lake located in Haryana!
“1) #A= (1) Karnal
(2) fRanr (2) Hisar
(3) iig (3) Jind
(4) WieEe (4) Faridabad
(5) IWT A€l N |TEd | (5) Not attempted
' 49. Which city is known as the ‘Heart of Haryana’ ?
- :HT?{;WWWWWB ? (1) Panchkula
(2)  sfaTen . | (2) Ambala
- Lo . Eii i‘:nd (Gurugram)
% urgaon (Gurugram
(f; ; 3%(% - (5) Not attempted
| 90. The climate of Haryana is :
B0 w1 Sy € - (1)  Sub-Humid Sub-Tropical type
b W‘; ﬂmﬂa Ry ' (2) Continental type
2 Ay (3)  Sub-Humid Temperate type
. (3) T YA TR - (4)  Sub-Tropical Dry Continental type
/ {(:; m g;m o : (6)  Not attempted
g % fry ot d waifis auf @dt 2 2 61. Which district of Haryana receives the, highe:
rainfa]] ?
g\‘:;] 2:? | (1) Bhiwani
: (2) Hisar
,‘4 T | (3)  Ambala
(4) FoEA - @) Kurukshetrs
(5)~ I T < e | (5) Not attempted
RAMA/C1/Page 10 % T4 % fery war / SPACE FOR ROUGH WORK — I

(% Scanned with OKEN Scanner



52. @M qamdl U9 AREW, 1994 % sy X ¥ |52, Which of the following committees i not

inted by the Panchayat Samit: .
FqER Frofafes § @ F9- affy d9m aff = appol? miti according to
A = chapter X of the Haryana Panchayati Raj Act,

frger 72F € s 2 ot
(1) ﬁﬁl, A@T-gian (Q‘Iﬂz) ud T afufaat (1) Finance, Audit and Planning Committees
(2) wmwifas =g gmfa 2) Social Justice Committee
(3) wm= |ffd 3) General Committee
(4) w@reA wE Feam affa | - (4) Health and Welfare Committee
(5) IR & &1 =R (5) Not attempted
SCHEE « (DR N g g i 53. Where is Ba'ba Ladaana Tirlth Sthal siifuated ?
(1) Fua | - o (1), Kaithal '
2 @& | (2) j"f‘;’““
{3) m
el o s
(5) 3w TEl A1 =TEd (B~ Netsttemp=
; 54. When was the first permanent Lok Adalat set up
| O34 whamom i weeh wurh A S A FIE ? | jn Haryana ?
(1) 1797, 1966 | (1) 15t November, 1966
(2) 17 9=adl, 1955 . : ' (9) 17" January, 1955
(3) 107%%, 2005 (3) 10" May, 2005
(4) -7 3FTEd, 1998 | (4) T August, 1998
(5) I AR & =ed | (5) Not attempted

fem 1 8 g T ghamn & ﬁ?ﬁ ¥ g A ! 55. Match the ancient names of the districts 1n

55. <IcH Haryana given in Column I with their present
i names in Column II:
Column 1 Column 11
” L. Sairishaka a Sirsa
1L I, Kanoud b.  Kaithal
Il MI. Kapisthal c.  Panipat
IV. [V. Panduprastha  d. Mahendragarh
(1) 1-¢ [1-b; 1I1-a; Iv-d (1) I-¢; II-b; II-a; IvV-d
(2) ' 1p: II-¢; 1I-d; IV-2 (2) I-b; Il—¢; III-d; .N_E
(ﬁ [-a; [I-d; ITI-D; V- (3) I-a; II-d; III-b; I?—E
. T0 | . [I-a: III-b; IV—c
(4) 1-d; T-a; 1II-b; IV=c (4) I-d; I-a; )
(5) Not attempted

(5) Wﬁ&’""‘f‘_

RAMA/C1/Page 11
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56.

Consider the following statements :

| (a) Chope is a style of shawl manufactureq j,
() <, geamon § fafita witer o v &9 L | Haryana. -
b) v g off 0
3| T ¥ F Forp] F AW (b) This shawl style is also known as Phulkarj
Which of the statements given above ig/are
IS A @ F/ T wh YA 7 correct ?
:;; ;:;:‘ﬂ (b) 3 B i 7 (1) Neither (a) or (b)
o a *(:; (2) Only (a)
@) G () (3) Only (b)
(4) Both (a) and (b)
(5) I e o 9Ed
o (6) Not attempted
g 6 ey = i F9 A T
@ a7 9 R T | 57. When was the famous Badkhal lake of Haryana
(1) a4 19749 ETETPE;‘Q;
(2) a4 1940% n
(3) In 1947
(4) =4 19504
(5) Not attempted
58. zREmm F FHA g w9 fim s wEdl S anflE S
35 58. Which dance form of Haryana is dedicated to
. Shiva and Parvati ?
(1) IR 3 di o
{2-} - ﬂ :!ﬂ' rﬂﬂg"[ll' ance
(3) I (2) Manjira Dance
4) Tt = (3) Lasya Dant:e
(5) I TE T =EA (4) Ratwai Dance
| (5) Not attempted
59. 1770 3. ¥ Tofla-3zden i *® T :
e fed Brer 7 R L 59. After the death of Najib-ad-Dawlah in 1770 AD,
: who ascended his throne ?
3; "s'ad’mﬁ'm“' (1) Mahadji Scindia
@ : :EH el (2)  Ahmad Shah Abdali
(3)  Jabit Khan
(4) 9% @M @) Najaf Khan
(5) I F&f 21 =mEq (5) ' Not ﬂttéTHpted
80. W“‘E"T‘Tﬁw&ﬁm*ﬁﬁmt? 60. Where ig the i
- C
(1) gy (1) Waist hihaj ornament worn by women ?
(2) e (2)  Forehead
(3) A (3)  Neck
(4) @9 4) Hang
(5) 3o A g TEd (3) Not attempteq
RAMA/C1/Page 12 % @i % f#70 ¥ / SPACE FOR ROUGH WORK — _
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61.

any District Level Treasuries are there in

il i FI%B;-’{‘IJT, 2021 — 99

- P i jz % IR gfwmon 4 | 61. !;ijﬂ“ﬂ according to the Haryana Econom;
(1) 24 Survey’ 9021 - 227 mic
(2) 25 1) 24

(3) 22 2) 925

(4) 23 3 22

(5) I FE <A1 IR (4) 23 |

PRI i (5) Not attempted

m £ P ﬁ;gg ;“ :z :ﬁ vz e (NBHM) 62. Naﬁnnﬂl ]E:IEEkEEﬁiﬂE and ’Hune;?r Mission
(1) 201'? . ;qm.z,l{; gcheme was started in which year in
(2) 2020 [1?1?2017

(3) 2018 (2) 2020

(4) 2019 | (3) 2018

5) I T (4) 2019

T E S Ne— (5) Not attempted

faa TTial @l SIS ™I 22 | 63. How many villages have been associated with
(1) 3,560 “Mhara Gaon, Jagmag Gaon’ Scheme till January
(2) 3,216 (21[:22 ; »

(3) 5,569 ® 3’216

0 8 (3) 5'569

6) 3w 7 T e - (4) 4:806

gﬂ'awnﬁﬁga:m‘ﬁmﬁa?rgmﬁw 2021 — 22 T
fepat 2 72

(1) ~ 73,07,992

(2) 68,57,609

(3) 71,17,384

(4) 72,17,283

g&mmnwm%ﬁ?ﬁﬂ-aﬂ 2022 — 23 H FeA FAC
ﬁrmﬁsﬂaﬁm%gﬁu’rﬁaﬁm

(5) Not attempted

What is the total number of electricity consumers
in Haryana till 2021 - 227

(1) 173,07,992

(2) 68,57,609

(3) 71,17,384

(4) 72,17,283

(5) Not attempted

What is the percentage of the total expenditure
allocated towards Education in Haryana State

Budget for the financial year 2022 — 237

e ?

1) 152% 1) 152%

(2) 182% (2) 182%

3) 164% (3) 16:4%

4) 14:2% @) 142%

(5) I A &A1 e (5) Not attempted _
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It 7 & =TEd
ﬂmﬁwmmﬁmwﬁm‘
&1 ?

(1)
(2)
(3)
(4)
(5)

67.

2017 -
2019
2018

2016
I @1 A1 ATEd

68. ﬁnﬁ%ﬂﬂﬂm%ﬁmwﬁﬁﬁaﬂ@ﬂaﬁﬁi

F 2022 #1 ‘ga # @mE v f @Y

(1) Faus fa
(2)

69. 2010 i farg wrn #) gfemn 1 @) e H1 A

fear ma1 ?
(1) efemrEl

68.

69.

()

6?.

Sportsperson Seema Punia Antil haijls fron

which village in Haryana ’
Kaluwas

Ujhana

Khandra

Khewda
Not attempted

(2)
(3)
(4)
(6)

Iﬁ which year was SAI National Boxing Academ,

(Rohtak) inaﬁgurﬂt.ed ?

(1) 2017

(2) 2019 )
(3) 2018 '
(4) 2016

(5) Not attempted

Which among the following personalities from

Haryana received the Padma Shri award in 2022

in the field of sports ?
(1) Yuvraj Singh
(2) Sandeep Singh
(3) Sumit Antil

(4) Bajrang Punia
(5) Not attempted

Which language was accorded. the status of the

second official language in Haryana in 2010 ?

(1)
(2)
(3)
(4)
(5)

Haryanwvi
English

Urdu

Punjabi

Not attempted

70. 2015 ¥ frefisr ¢ form et fsem =t @t gt | 70- Which Haryanvi film released in 2015 received
QU 9EH U T ? two National Awards ? |
(1) @R T (1) Veer Ghatotkach
(2) a9 (2) Beera Shera
(3) g == (3) Chand Chakori
‘JA) m (4) Pagdi
(5) IR & AR (5)  Not attempted
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3216 + Y729 + Ye4 ) ;
71. (3}1331 x Y216 + 3729 4+ Qfﬁ_{) U -e : . (%?S-f X ) IS equal tg -
88
(1) 9088 1) 90 22
(2) 1362 @ 19
3) 79 @ .
14
(4) 14-82 (4) o
(5) I T 3 9T (5) Notatemp
_ 79 There 4re three positive numbers.” One-third of
@ ?ﬂ_'{ UTcqh H@li g | &4 ?ﬁﬁ R@'lw'&ﬁ % Gﬂ'ﬂﬂ <l ' the ﬂvel'ﬂge of all the three numbers is 8 less
u-ferd, gad /) g @ 8 W R | ged o wEm than the greatest number. The average of the
3l ol wa8 offt wEn &1 e 8 B | wad wd gmallest and the second smallest number is 8.
&G 1 8 7 | What is the greatest number ?
(1) 14 U 'L (1) 14
(2) 9 _ (2) 9
(3) 10 (3) 10
4) 11 (4) 1

5) Not attempted
(5) IR TE A =T (5)

T ':|'.|-I§ .73. Mr. X has some money with him. He has to
QZ@ﬁ vy ¥ g% Wt distribute this money among five labourers in the

I_@iﬁlzl:l;l;l%;manuﬁa?zmm ‘l'l:lrl:l.‘i’i’hatistheminimum
29 3 4 5 17 ratio 5 '3 3 F

? | IF TW A v gl e, amount he should have, so that each labourer

mmwﬁ@mﬁmmﬁ? gets an exact number of rupees ?

(1) <599 ' (1) T599

(2) 7 358 o ) (2) %358

(3) T 420 (3) T 420

(4) ¥ 512 - (4) %512

(5) IR &I &A1 =g | (5) Not attempted

74. If the income of A is 10% more than that of B a:nd
the income of B is 20% less than that of C, then
the incomes of A, B and C, respectively, are in

4. af: A & @, B H @@ @ 10% fuw 2 991 B H
3, C & 31 A 20% F4 B, @ FAM A, B a91 C

aﬁmﬁaqgtrm%; the ratio :
(1) 22:18:25 (1) 22:18:25
(2) 11:10:8 {2)_ 11:10:8
| A7 22:20:25 ' (3) 22:20:25
| 4) 10:9:7 | 4) 10:9:7 |
(5) 3ITC BT 21 =9TRd "~ (6) Not attempted -
—— — ——— — - —
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75. A’ sum of money at simple interest doubeg |
7 years. It will become four times in - b

T T 2 ¥ ww e ) et 2

1) 424 (1) 42 years

(2) 18%¢ | | (2) 18 years

3) 217d (d) 21 years

(4) 383 (4) 38 years

(5) I 7 3 TR | - (B) Not attempted

LR R p—
40 = 3 Wq:ﬁﬁ & a’::‘t:;zﬁﬁ? :ﬁ? *6 A man and a boy together can do a certain
R =5 amount of digging in 40 days. The -
HING 8 : 5 ] | R wgh B AHS G & digging are in ys. Iheir speeds in

i th i0 § -
hmmfﬁﬂﬁﬁ'ﬁﬁﬁﬁiﬁﬁﬂwm the boy Erahﬂ@.S'Huwmanydaﬁwiﬂ

take to complete the work if engaged

qre 2
alone ?
(1) 104 f35 '
(1) 104 days
(2) s52f&H
(2) 52 days
(3) 68feg
@ 80f (3) 68 days
®) . v ~ (4) 80 days

(5)  Not attempted

Price of the thirq variety per kg : , the
(D) = 180,09 o
D = 18009
@) = 16950 (2) %169
50
@ 17000 ® %17
000
W T 17550 4) =
175-50
©) I 7 3
.. e '
RAMA/C1/Page 16 — | ) Not attempteq
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R R EaE 'ﬁﬁﬁﬂﬂ Har ? & See® ¥ 2|86, Which of the following is used to ensure accuracy

fed) on forvaei 3 9
T TR
Ty Thm
T R
rA R ECHEN
I TR A A
g § & SH-a a1 ghe e smEfem
HERR?
T8 T T wgE @ fres gt F e
e H I qhE ¥ TEEHI 1 Gobell # |
Ir Tt =1 v o ? s g 99 W
i 92 gU 99 Yol 1 W foran S weh R | |
7 99 T IUeRY TS TEEA & A uh IHiE
(rfeefrr) vgm ST Ug R | |
) TR Yead B | T T FHh IR |
) e FE & e
e, fam o A T A e I R 2
1) HEREE |
4w
(3) W
(4) WiTEaH
(5) I TE A =TEd
P & & S w9 2 2

f(l).m}m}m}m
@) e > e > A > i
(3) m}m}m}m}
(4) UEETETEE > fyemEme > duange > fomene
v I T8 B 9 ’

87.

89.

and reliability of data in the database ?

(1) Database Instance

(2) Database Schema

(3) Database Constraint

(4) - Data Dictionary
(5) Not attempted

Which one of the following statements is currec’i
aboﬁt iJnifunn Resource Identifier (URI) ?

(1) ‘It is a unique address that can be used to
uniquely identify each node in a network.

(2) It is a set of rules which is used to retrieve
linked web pages across the web.

(3) It is a umgque address or path for each
resource located on the web.

(4) It is a unique value associated v._rith a
network adapter. | o /

(5) Not attempted

Google, Bing and Yahoo are examples of
(1) Firewalls

(2) Search Engines

(3) Mobile Applicatiqns

(4;] Software

(5) Not attempted

Which of the following is the correct sequence ?
(1) Petabyte > Zettabyte > Gigabyte > Terabyte
(2) Kilul;uyte > Petabyte > Yottabyte > Megabyte
(3) Megabyte > Kilobyte > Terabyte > Gigabyte

(4) Exabyte > Petabyte > Terabyte > Gigabyte
(5) Not attempted
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2. 14 0. fivm qup g . Srd & o I A
gy S g e 50 W R
(1) #1,09,800
(2 =1,00,208
3)  =1,07,800
@) 2 1,08,000
(5) 3 T 31 e

83, Aﬁraa.{}ﬂomaﬂmﬂmﬁmﬁ“‘” 5 T® %
13 ¥ 55,000 Gt o B d o wmw i
Hﬁwﬁwmaaﬁaﬁaﬁ?zz,{mo*rﬁm?ﬁ'

ﬁnﬁﬂﬁa—xﬁnﬁrﬂaﬂtB%m%Ww
% TuE & o |

(1) #1928
(2) = 1,007
(3) 71,192
(4) ¥ 1,857

(5) 3O 7 o wmER

I,

84. ﬁ%ﬂ?ﬁm%mmﬁeﬁﬁﬁhﬁnﬁﬁaﬁqm
%m%mmsﬁtﬁmmﬁaﬂai?
(1) 11:5
A b
5 6

(2) 5:11
-8 5:6
(4) : :
(5) I & T =9mma

85. UF @iz H 2 18,700 ¥ ¥y W, su% wiw
15% 1w A R 1 16% W™ ¥ frv 9w @iz @)
fFaa g &9 2

82.

- (4)

. (5)

The cost of a solid cylinder of radius 14 m

height 3-5 m, when the cost of its meta] is ) -

per cubic meter, is :

(1) . ¥ 1,09,800
(2) ¥ 1,00,208
(3) ¥ 1,07,800
< 1,08,000
(5) Not attempted

A started a business investing ¥ 38,000. Ay
5 months, B joined him with a capital] | 8
¥ 95,000. At the end of the year, the total prof
was T 22,000. Which out of the following is t

approximate difference between the shares ,
profits of A and B ?

(1) ¥ 1,928
(2) ¥ 1,007
(3) ¥1,192
4) 71,857
(5) Not attempted

If an article 1s sold at 20 percent profit, then
which of the following is the ratio of its cost price |
to its selling price ?
(1) 11:5.

(2) 5:11

(3) 5:6

4) 6:5

Not attempted

When a plot is sold for # 18,700, the owner loses

(1) 725,800
_ (1
(2) 21,000 {2;' i
T
(3) 7 22,500 @ 1,000
T2
_#D 725300 ” ~300
z
(5) IR 8 27 TR WS
() Not attempteq
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gg. fr=ferfiaa
i 8 ¥ g w  f s i 3

86. Which of the following is used to ensure accura
Cy

qete®
() aen et 4 2 N
(1) 3IREY 3= and reliability of data in the database ?
(2) SREY w=hw (1) Database Instance
(3) INHE TR (2) Database Schema
4) = fewEd (3) Database Constraint
' Dicti
(5) . I A AT R (4) Data Dichionary
(5) Not attempted
g7, Frefafas § & SE- 3
DN 1 e e fee sedfow | 87, Which 0% o the following statements s correct
. ' about Uniform Resource Identifier (URD) ?
D T X @“%ﬁ“%i‘“ﬁﬁ*%uﬁm (1) Itisauniqueaddresathatcanbeugedw
g I I At § TR A1 Hhdl % | uniquely identify each node in a network.
(2) ﬁﬁﬁqﬂ@m?mmﬁiﬂtm (2) ItiEﬂﬂEtﬂfﬂﬂEﬁWhichisusedtoretrieve
ﬁﬁ%gﬁﬁﬁﬁ 1 e faaT <1 @l & | linked web pages across the web.
(3) 97 a9 9T 39 eI GETYE & fou o FHF (3) It is a unique address or path for each
(wfzdta) TgH a9 4 - ~esource located on the web.
(4) TB Soads TR W T3 TH s et (4) It is a unique falue associated with a
network adapter. | o
(5) IR T & A | J
(5) Not attempted
R il mﬁ}ﬂ u 87 Google, Bing and Yahoo are examples of .
() (1) Firewalls
/‘4) ) W (2) Search Engines
(3) (3) Mobile Applications
{4)_ (4) = Software
() I T & e (5) Not attempted
89 frafafad f g HEA-H R FAR? Which of the following is the correct sequence ?
/ (1 foeremge > wernee > ﬁrlTrﬂTiE > AR (1) Petabyte > Zettabyte > Gigabyte > Terabyte
(g) et > e 7 frerarge > AT @) Kilobyte > Petabyte > Vottabyte > Megabyte
(3) HTEREE > fepetraTse > qange > firmrarge (3) Megabyte > Kilobyte > Terabyte > Gigabyte
(4) TEEEEE > firgrarse > SNAEE > o ITarge (4) Exabyte > Petabyte > Terabyte” Gigabyt®
(5) N 78 & aTEd (5) Not attempted P s
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e ""-'-'"'I'-\. g

20 W F SRR i sy gy 4 g A FERTET 4
A WA o w5
(@) HE2 W wm 111wy g e & e R
M W w9 e o s 2 |
(b) WY Heivem Ry 3 @t @0 § @ W
ﬁﬁ"“mmtl |
O HEYE weive faige @) af 50 I & 4G
Tl it s1afy #1 sazawar ot 2 |
RARLLELE TERUT F ST
(1) (a) 3R (b) |
£2)  (a) 3K (o)
(3) %Had (b)
(4) 3= (o)

(5) 3IW & 291 |Ed

91 Fefifan & & w3 ww s w9
3TTETT & ?
(a) ¥Na
(b) =g T Irafiwr

() SFiegforan

(d) @4

= fau T Fz @ wd fapey w1 997 i

(1) (b3 @ - 4

(2) (a) 3 (b)

(3) (b)3M () 1

4) (a3 @

(5) 3w 78T g1 =g

M.'aﬂvﬁéﬁrﬁmﬁégﬁmmﬁﬂw

Hqg1, ‘gEEE afr, [
Sam e o ) Rt
(a) sﬁaﬁﬂéﬁmmmmp"ﬁ
(b) mEarft vg F 4= 4w fafw e g

1 ' mtﬂmentﬁ .
Which among the following 8 iy
correct with regard to the amendment “fi
Indian Constitution ?

(a) Parliament has the power to ameng y
part of the Constitution except for Part

A Constitutional -Amendment Bill can o

be introduced in the Lok Sabha. _
The Constitutional Amendment Bill Ong
passed needs the assent of the President,
Choose the correct option from the codes giy,,
below : ‘

(1) (a)and (b)

(2) (a)and (c)

(3)  Only (b)

(4) Onlyle) .

(5) Not attempted

(b)

(c)

Which among the following countries would be an
example of ‘coming together’ federation ?

(a) India

(b) U.SA. ,

(¢) Australia :

(d) Spain |
Choose the correct option from the codes given

- below : -

(1) (b)and (d)
(2) (a)and (b)
(3)  (b) and (c)
(4) (a)and (¢)
(5) Not attempted

Which among the following was/were feature(s) of
Subsidiary Alliance’, a system devised by the
British in colonial India ? '
(a) It was devised by Lord Wellesley.

(b) A British army contingent was to be

GEIGREUIN stationed in the territory of the

(c) @zanft yeg frdt arg was & WY I3 @Y 74 “(¢) The ally could never rgyet iutna;.lg}‘:eements
FGF | with any other rulers.

(d) fafew gearft g & Faa Jafa gifagi @ (d) The British were to protect the ally only
o Y | from the internal threats to power.

3 ‘E‘Q ayzd &1 97 Hf - bCél;E:rs? the correct option from the codes given

(1) (a) 3N (d) (1) (a)and (d)

(2) %ad (b) (2) Only (b)

(3) (a) 3 (b) (3) (a)and (b)

(4) (a), (b) 3 (c) (4) (a), (b) and (c)

(5) I T 27 =T (6) Not attempted
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3, frfafiaa # ¥ g wenfeem @ wam Rl 3 fg |93, Which of the following plastics is used for making

T % feru o wman 2 2 electrical switches ?
Teflon
(1) eFH - (1) Te
uiferdi (2) Polythene
” - @) PVC
@ o s
4 i . (5) Not attempted

SR 94, What was the slogan of the ‘Patient Safety :Jay'
04, 17 ot 2022 Hi A St e R FA[T 4 vas observed on 17 September 2022

1 o1 ? ) “Health With Yoga N
1) “awaF@ad o  (g) “Health Without Medication”
e, T @ | | (3 “Meditation Replaces Medication”
. | (4)° “Medication Without Harm”
(3) ‘g H TR il . .
" | " (5) Not attempted
@ ‘o, fm 3FE ,
(5) W 7@ & am?f o5, What is the name of the plant group whose

d are usually

(4) Pteridophyta
(5) Not attempted

[n Olympics, India has
number of Gold Medals

o . since 1900 to 2020 ?

a@m'zmﬁﬁmﬂﬁ-

' | F7d! (1) Wrestling
[ v (2) Shooting
(3) Hockey

(4) Boxing

: 2y Not atteﬂpted‘//
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R R S F,

. Market Equilibrium figure, if the
] A d and the Suppl Dem"i
curve shifts leftward an PPlY curye shy

o 8 S TR e
(llnﬂﬁ:ﬁ;aﬁ:;nm i o (1) Remains undecided
(2) wm (2) Decreases
(3) =@m - (3) Increases
1) ufEfis (4) Remains constant
(5) Not attempted
(6) I T8 7 a3

98. Selling off a part of the equity of a Public Sect, |
Enterprise (PSE) to the public is called -
l

(1) Communisation

98. felt wwTlt i & ywwm (dpwd) FEED P T

NI I A w7 F A w w8
(1) sqariE (2) Nationalization
(2) | (3) Disl:nv:estx'nent
o o . —
(4) gl |
(5) I € 247 |@red 99. India’s first nationalist art school was established
in which University in 1919 ?

(1) Allahabad University

99. YNE &1 UEen UgEE Hen faged 9§ 1919 ¥ fFw
(2) Aligarh Muslim University

ferafarener 4 wafim fam man an 2

(1) zenzrare fEvafaarem - (3) Visva-Bharati University

(2) arefime gfeem favafs (4) Banaras Hindu University
(6) Not attempted

(3) fava-undt fazafaasm

100. Which of the following waterways has been

(4) FAnE fe=; fazataara declared by the Government as the National
(5) 3T F# 271 =rEd Waterways N.W. No. 2 ?
| (1) Specified Stretches of Godavari and
{bo. Frferfiaa el & @ fEg saumt ¥ @@ER T Krishna rivers along with
“ g Jemm aegn 2% w9 4 Gifvd fEm man @ 7 ::?}1;:;:? - Puducherry Stretch of Canals
(1) FE - A ge & waae e E |
5 Rty wm (1078 P~ e lGanga river between Allahabad and
A o Al S Haldia (1620 km)
(2) m ;h; gfegar & ®eA TN (3) The Brahmaputra river between Sadiyd
& o m* m _— ; and Dhubri (891 km)
) | g (891 f6..) (4) The  West-Coast canal in Kerald
@) F@ A Al e (Fggm - g, (Kottapuram - Kollam, Udyogamandal and
IR 9 FFHT TE - 205 FF. o, ) - Champakkara Canals — 205 km)
(5). 3 & 27 =R - (5) Not attempted | B y

B
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